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Second Paper
() Quantitative Methods for Economics

Time allowed ; Three Hours 100 for Arts

Maximum Marks : 75 for Science
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1.

Section-A ( ©US-37)
Distinguish between primary and secondary data. Explain the various
methods of collecting primary data. 10+10/7%+ 72
waE 7 B 9HE § SR o FieE | methe 99 W w0 9t
Tafi e =7 woemed |
(a) The average marks of 100 students were 40. Later it was found that the
marks of one student were misread as 14 instead of 74. Find the correct
mean marks. 4/3
100 BT % e Wi 40 9 1 9% § 9% a1 o fF v Tl ¥ o 74
F T W 14 92 T | W Siem grats 9@ S
(b} Calculate mode from the following data :

FrAfefian 99 § agas F T FI0E

Central size Frequency .

SPn s st rtuonline.com
15 5
25 9
35 13
45 21
55 20
65 15
75 8
85 3 8/6

{c) Find the missing frequencies in the following series. The value of median
is 45.
frefefen a7 9 s smfel o0 SR | 9o =1 50w 45§

Class Frequency
Ll amafa
10-20 12
20-30 30
30-40 ?
40-50 66
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50-60 ?
60-70 25
70-80 1%
Total (A7) = 230 8/6

Goals scored by two teams-A and B in a football season were as follows :
No. of goals scored No. of matches

n a match Team A Team B
0 27 17
1 9 9
2 3 6
3 5 3
4 4 3
Find which team may be considered more consistent. 20413
FaTe 99 A o 2 —A i B g fate el F o e e owen
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i g 9
rtuonline.com 2 2 6
3 5 5
4 4 3
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Section-B ( @S- )
From the following data, calculate the coefficient of correlation between
age of students and their playing habits :

Age No. of Students Regular plaver

15 230 200

16 200 150

17 150 90

18 120 43

19 100 30

20 30 12 20/15

fraffiga o= & faenfdl =t oy =i G =t oTeTd Te-T=ry TS 39
i :

g Toenferal <t Tem Tirafira e

15 250 200

16 200 150

17 150 90

18 120 43 .

19 100 30 rtuonline.com

20 80 12



rtuonline.com
5. {a) Why Fisher's formula is referred to as an “ideal index” ? Explain,
FFYR % gl &1 SCE G o o ST B 7 S S 846
(b} Calculate the Price Index from the following data by Fisher's Ideal
Index formula :

Item Base Year Current Year
Price Total Price Total
per unit cxpenditure  per unit  expenditure

A 5 250 10 600

B 2 2000 2 160

C 4 240 6 300

D 4 280 16 600 12/9

frvm & oTee 47 g 1wl | Fimn gews et $ifed -

b4 TR Y TaEAT 7Y

A ] 250 i0 600

13 2 200 2 160

C 4 24 6 300

D 4 280 10 400

6. Interpolate the values for 1995 and 1997 from the following data
fresffiag <Twel § a1 1995 31 1997 ¥ TH%1 F1 ST=TTOR HI0 -

Year Sale of TV sets (000

EL] Jt=t. B2 = F5E 000)

1992 15

1993 18

1994 20

1995 , . ?

1096 rtuonline.com 25

1997 ?

1998 30 20/15

Section-C ( @IZ-H )
7. {a) Prove the following :
Fr=fafan =t fag =i .
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(1)

(ii)

i T
zgd AB. rtuonline.com 10772
a=l1 3 % EER
a2 ™ 002
@ AB @ S |
(a) The 2nd and 7th item of an AP is 4 and 19 respectively. Find the
SEries. 51334
ffr TR SO ST R T TS WS EH: 4 a9 19 & T S0 Fm e |
T
(b) Find the Tthterm of GP. 1, 3,9, 24 51334

o it 1, 3, 9, 27... 74T 9 9 HAe |
(c) Expand this through Binomial expansion method :
fgue formam Ofa 2 formm =ife .
(x- 3y ltuonline.com /3%

fd) Solve the following quadratic equation :
o T Tt & B Fifed .
4 -x-3=0 5/33%
{(a) Differentiate any two of the following with respect to x
Fratafaa 7 4 5l & =1 x ¥ Oe sawe Wiy

(i) y= ?13 (i) ¥= JI-x+x2
(i) y={x*+ T} (x+ 1) 5+5/334+33%
(b) IfTC =Q° -3¢+ 27Q, then calculate AC and MC. On which production

of Q the AC will be minimum 7 10/7%
afe Fer @ = QF - 3Q° + 27Q F 1 HAww W 9 HEra oFE wee
Tremferd | Q =t T3 a1 W 3ftea se =3as 2t

Choose the correct answer in the following questions and write in your

answer book : 20x1/20x3

Frefafan gwl F wE S TR A Sw-giE | fafes

The father of “Statistics” is called :

(a) H.G. Wells {b) Lord Kelvin

(¢} Lord Kelvin (d) Gattfried Achenwell

‘gifigrl = e FE S ©

(a) TS, Fe {b) FE whica

(¢) THEHETHE UHFATE (d) =Tfe™ T TaH

Data are generally obtained from :

(a) Primnary sources (b} Secondary sources

(c} Both pnmary and secondarv(d) None of the above

TEAFE F A W T o
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{1n1)

(iv}

{vil

(vii)
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(a) 9t =e = (b) Teta =l &
(¢) mufs ud fgdtas 9 ol &

(d) 379 | =% &l

Point of highest concentration of values is called .

{a) Median b} Arithmetic mean
i{c) Mode id) Iarmonic mean
qedl ¥ At Wewn # fag seam €
{a) Teg= (b) HEL AT
(c) FEETT (d) T AT
If 2 (X — ay= 0, the value of g is :
(a) Mode {b) Median
{c) Arithmetic mean {d) Standard deviation
AET(X-a)=0,a FITE :
(a) sgT (h) T=T= {c) |ATAL ATA (d) T fo=eE
In a symmetrical distribution Standard Deviation is equal to .
52 4. L 2. 3
@ 7 () _?b (c) 56 {d) 25
T FEHAE g2 § W e e g
o 4 25 3
The coefficient of variation 15 :
-1 X g X
{a) X 13)] o (c) X % 100 (d) 5 X 100
Tar=ror T ©
g X o X
{a) X { p= {c) X% 100 (@ Pt 100

Correlation is significant if :

fa)ri6pe Mr=6pe ()r<bpe (dyr>6pe
TEEE AU ¥, 9

(@ rfépe Mr=6pe ©r<6pe {dr>6pe

(viii) Time reversal test 1s -

{ix)

aP xP =1 P, xP, =1

)P, xP,=1 P, xP =1

T SRR GO

ap,xPpP, =1 by P, xP, =1

P xP, =1 dPpP,xP =1

Which one of the following is not a measure of central tendency :
{a) Arithmetic mean (b} Geometric mean

{¢) Harmonic mean (d) Mean deviation
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Frafare § § SF-91 F=1g vofs = aw =7 E o
(a) THFER WS (b) TORR AT (c) FTUCTH TeR(d) HreH famer
(x) Regression lines cut each other at the point of :

{(a) Mean of X and Mean of Y (b) Mean of X only
{c} Mean of X only {d) None of these
T T s d T R e g el E s m X v Y
F AR B £
(2) X F1 ®E g Y S OAET (b)) Foa X i AN
(c) ¥ Y =1 WA () 378 | =ré ==t
(xi) Expression (x + ¥)° will have :
(a) 6 terms {(b) 7terms  (c) 2 terms {(d) 36 temms
(x+yy = fommd Fu i
{a) 6 7% by 7 4= (c) 2 0% (d) 36 1=
(xii) If a man travels from point A to point B at a speed of 30 km/hr, and B
to A at a speed of 60 ki/hr. The average speed will be :
(a) 50 kin/hr.  (b) 40 kmn/hr. {(c) 45 km/hr.  (d) None of these
af waEE A A BT T W kn/r. M I A a5 B FA T
60 km/hr. =1 Tfa & A w0 ¥ 9T AT T BRI

(a) 50 foretrafa =g (b) 40 Terst/wfa =ver

(c) 45 Femetrafa wmer (d) T8 | Fg &l
(xiil) The nth term of an Arithmetical series is :

(@a+n-14d () %[2a+(nu-1)d]
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(c) grm-1 (d) —r

TR S ST pEl 9% B

@a+@m-1)d (®) 5[2a+0n-1d]

© arn-1 @ 155

{xiv) In a modecrately skewed distribution, relationship between various
measures of central tendency is :

(@ X =3m-22 () M=3X-22Z

(€) z=3m-2X (d) None of these

T WERY B9 A srgafin de 3 i watn F fafim Al § e
(@ X =3m-22 ) M=3X-2Z

(€) z=3M-2X (@ =
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(xv) IfA= E 2 , then value of determinant is :

(a) 4 (b) -4 (c) 8 @2
Tk A= E 3| #, @ e e i
(a) 4 by -4 {c) & d) 2
(xvi) If v = .J_ then o4 1s :
A X dx .
F ! Jx
- ﬁ — 'x
(a) x (b) 3 (€) e (d) 5
afry= S5 %@ 2 am
y= 4x s E :
- 1 -
2 X oy —— — X
{a} x (b) 3 {c) H;; (d) —
{xvii) It TC = 200 + 2Q, then MC is :
{ay 200 (b)) 2 icy 1 (d) Zero
A & @@ TC = 200 + 2Q T & HiHm= arm 5T
{ay 200 {b) 2 c) 1 (d) =3
{xvil) Series %% 1. -1, - 1; is -
{al AP h G.P. {c) ILP {d) None of these
Ty %l 1, -1, —-l L ®: rtuonline.com
{a) AP by G.P. {c) HP (d) 378 | =g To1

(xix) The difference method of calculating interpolation was proposed by ¢
(a) Lagrange  (b) Newton  (c) Stirling (d) Pascal
s fafy § eraemE #f oen #f F wRkeE 4

(a) S (b) === (c) =f&m (@) T
(xx) The value of log, 729 1s :

(a) 3 (b) 6 ©?9 (@ 27

log, 729 F AF ¥ :

(a) 3 (b) 6 ©9 (@ 27



